








How many such pairs of letters are there in the word 'CORPORATE', which 
have as many letters between them in the word as there are, in the 
English alphabet between the same letters in sequence?
शब्द 'CORPORATE' में अक्षरों के ऐसे ककतने जोड ेहैं, जजनके बीच शब्द में 
उतने ही अक्षर हैं जजतने अगें्रजी वर्णमाला में समान अक्षरों के बीच क्रम में 
हैं?

A. NONE
B. ONE
C. TWO
D. THREE
E. MORE THAN THREE



Ten persons P, Q, R, S, T, U, V, W, X and Y were born either on 8th or 27th in different months i.e. 
January, February, March, April and May of the same year but not necessarily in the same order. No 
two persons were born on the same date of the same month. 
P was born in the month having even days but not the least number of days. Four people were born 
between P and W. Three people were born between W and S. T was born in the month having the 
least number of days. Two persons were born in between T and Q. U and V were born in the same 
month but not in March, U was older than V. Three persons were born between U and R. X was not 
born in the month having the least or odd number of days.



Ten persons P, Q, R, S, T, U, V, W, X and Y were 
born either on 8th or 27th in different months i.e. 
January, February, March, April and May of the 
same year but not necessarily in the same order. 
No two persons were born on the same date of 
the same month. 
P was born in the month having even days but not 
the least number of days. Four people were born 
between P and W. Three people were born 
between W and S. T was born in the month having 
the least number of days. Two persons were born 
in between T and Q. U and V were born in the 
same month but not in March, U was older than V. 
Three persons were born between U and R. X was 
not born in the month having the least or odd 
number of days.



Six men-P, Q, R, S, T and U are closing their loans in different months-January, April, May, July, September 
and October in the same year. Their loans are Personal loan, JewelleryLoan, Car loan, Bike loan, Business 
loan and Housing loan. All the information is not necessarily in the same order.
P has closed neither housing loan nor a bike loan. S has closed the Jewelleryloan. The car loan is closed in 
January. The business loan is closed immediately before the housing loan. T has closed his personal loan in 
May. Bike loan is closed in October. S has closed his loan neither in July nor in September. Only one person 
is closing their loan between T and U. Q has closed his loan before the person who closed the business 
loan.



Six men-P, Q, R, S, T and U are closing their loans 
in different months-January, April, May, July, 
September and October in the same year. Their 
loans are Personal loan, Jewellery Loan, Car loan, 
Bike loan, Business loan and Housing loan. All 
the information is not necessarily in the same 
order.
P has closed neither housing loan nor a bike loan. 
S has closed the Jewelleryloan. The car loan is 
closed in January. The business loan is closed 
immediately before the housing loan. T has 
closed his personal loan in May. Bike loan is 
closed in October. S has closed his loan neither in 
July nor in September. Only one person is closing 
their loan between T and U. Q has closed his loan 
before the person who closed the business loan.



11. How many such vowels are there in the above arrangement, each of which is 
immediately followed by a vowel?

(a) One
(b) Two
(c) Three
(d) Four
(e) None



12. Which of the following element is exactly in the middle of 5th element from the left 
end and the 15th element from the right end of the arrangement?

(a) @
(b) ©
(c) %
(d) T
(e) None of these



14. How many such vowels are there in the above arrangement which immediately 
preceeded by number and also immediately followed by a Vowel?

(a) Three
(b) One
(c) Four
(d) More than Four
(e) Two



15. How many such symbols are there in the above arrangement which are immediately 
followed by a number and preceded by a consonant?

(a) One
(b) Three
(c) Two
(d) More than Three
(e) None



16. How many such numerals are there in the number ‘457891256’ which will remain at 
the same position when arranged in descending order from left to right?

(a) None
(b) One
(c) Two
(d) Three
(e) More than three



17. In the word ‘ELEVATOR’, how many pairs of the letters have the same number of 
letters between them in the word as in alphabet?

(a) Three
(b) Two
(c) One
(d) More than three
(e) None of these



There are eight members in a family of three generations. G is the father-in-law of C. C is 
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the 
only son of A. E is not the sibling of C. A is the grandmother of F.

18. How is E related to F?
(a) Paternal uncle
(b) Maternal uncle
(c) Paternal aunt
(d) Maternal Aunt
(e) None of these



19. How many male members are there in the family?
(a) Three
(b) Four
(c) Five
(d) Six
(e) Two

There are eight members in a family of three generations. G is the father-in-law of C. C is 
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the 
only son of A. E is not the sibling of C. A is the grandmother of F.



20. If E is married to J, then how is G related to J?
(a) Father
(b) Father-in-law
(c) Brother
(d) Son-in-law
(e) None of these

There are eight members in a family of three generations. G is the father-in-law of C. C is 
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the 
only son of A. E is not the sibling of C. A is the grandmother of F.



There are eight persons i.e. M, N, O, P, Q, R, S and T sitting around a circular table such that 
some of them facing inside and some of them facing outside the circle. S sits third to the 
right of R and both of them faces opposite direction. Both the immediate neighbour of S 
faces opposite directions with respect to S. T sits third to the right of P and is an immediate 
neighbourof M, who sits 2nd to the left of O, who faces the same direction in which S is 
facing. P sits between R and N. No two adjacent persons faces the same direction. Q faces 
inside.



There are eight persons i.e. M, N, O, P, Q, R, S 
and T sitting around a circular table such that 
some of them facing inside and some of them 
facing outside the circle. S sits third to the 
right of R and both of them faces opposite 
direction. Both the immediate neighbour of S 
faces opposite directions with respect to S. T 
sits third to the right of P and is an immediate 
neighbour of M, who sits 2nd to the left of O, 
who faces the same direction in which S is 
facing. P sits between R and N. No two 
adjacent persons faces the same direction. Q 
faces inside.



A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks 
for 4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for 
5m to point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At 
point D, he turns left to walk 10m to reach point C.

What is the direction of point C with respect to point G? 
a. North west
b. North east
c. North
d. South west
e. None of the above



12. What is the shortest distance between the starting point and the 
final point? 
a. 17m
b. 15m
c. 20m
d. 13m
e. None of the above

A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks for 
4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for 5m to 
point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At point D, 
he turns left to walk 10m to reach point C.



What is the total distance between B and A?
a. 7m
b. 19m
c. 8m
d. 9m
e. None of the above

A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks for 
4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for 5m to 
point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At point D, 
he turns left to walk 10m to reach point C.













19. How many pairs of letters are there in the word “TARGET” (both forward and 
backward direction) each of which has as many letters between them in the word as in 
the English alphabetical series ? 

a) One
b) Two
c) Three
d) None
e) More than three



20. If a meaningful word is formed by using the second, fourth, sixth and eighth letter 
(from the left end)of the word “MODELING”, then which of the following will be the 
second letter of the meaningful word thus formed from the right end. If more than 
one such meaningful word is formed mark Z as your answer. If no meaningful word is 
formed, mark X as your answer?

(a) O
(b) I
(c) X
(d) E
(e) Z




